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1 =%
(1) BgxEE
(£{K] (35 ki) [35~597%]) [60mLLE]
A% (M) | H&B%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HEB%*x | A% () A% (M) | L8 B%x | A% (M)
A B (A%XB) A B (A %XB) A B (A%XB) A B (A %XB)
&/IME 12, 689 19.4 246, 167 =/ME 11,198 19.4 2117, 241 =/IME 15, 000 19.4 291, 000 =/IME 13,173 19.4 255, 556
&XE 34,000 19.4 659, 600 =AE 19, 000 19.4 368, 600 =AME 34, 000 19.4 659, 600 =XAE 18, 900 19.4 366, 660
F{E 20, 857 19.4 404, 626 EHIE 14, 692 19.4 285, 025 EHE 21, 440 19.4 415, 944 F{E 16, 037 19.4 311,108
P R{E 19, 423 19.4 376, 806 o fE 15, 000 19.4 291, 000 h o fE 19,712 19.4 382,403 R R {E 16, 037 19.4 311,108
RAEfE - 19.4 - RAEfE 16, 000 19.4 310, 400 =IEE - 19.4 - =IEE - 19.4 -
AR 15 AR 9 ¥ 14 ¥ 2
2 BEZ®E
[21K] [35mKim] [35~597%] [60mLLLE]
A% (M) | H&B%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HEB%*x | A% () A% (M) | B8 B%x | A% (M)
A B (A%XB) A B (A %XB) A B (A %XB) A B (A %XB)
&/IME 217,500 19.4 533, 500 =/ME - - - =/IMiE 217,500 19.4 533, 500 =/IMiE - - -
PN [ 21, 500 19.4 533, 500 > PN [ - - - mAE 217,500 19.4 933, 500 =AE - - -
TiYE 21, 500 19.4 533, 500 TiYE - - - FiE 21,500 19.4 533, 500 FiE - - -
FR{E 27,500 19.4 033, 500 =P 3 [ - - - R {E 27,500 19.4 933, 500 R fE - - -
=4E(E - 19.4 - =HE(E - - - =HEE - 19.4 - =HEE - - -
AR 1 AR 0 ¥ 1 ¥ 0
2 &xIE&E
(1) E8mEE
[21K] [35mKim] [35~597%] [60mLALE]
A% (M) | HEhB%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HE 8%« | A% () A% (M) | L8 B%x | A% (M)
A B (AxB) A B (AxB) A B (AxB) A B (AxB)
&=/MiE 10, 445 19.4 202, 633 =/ME 11,198 19.4 211, 241 =/MiE 10, 445 19.4 202, 633 =/MiE 10, 467 19.4 203, 060
PN [ 34,000 19.4 659, 600 =RAE 19, 000 19.4 368, 600 mAE 34,000 19.4 659, 600 =AE 18, 900 19.4 366, 660
TiYE 17,064 19.4 331,047 EHE 14,613 19.4 283, 492 EHE 17,938 19.4 348, 006 FiE 14, 684 19.4 284, 860
FR{E 15, 000 19.4 291, 000 o fE 15, 000 19.4 291, 000 h o fE 16, 000 19.4 310, 400 R R {E 14, 684 19.4 284, 860
RAEfE 16, 000 19.4 310, 400 =AA(E 16, 000 19.4 310, 400 =AA(E 16, 000 19.4 310, 400 =IEE - 19.4 -
BAY 15 BAY 9 FAH 14 FAH 2




2) HEFHBE

(£{K] (35 ki) [35~597%]) [60mLLE]
A% (M) | H&B%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HE 8%« | A% () A% (M) | L8 B%x | A% (M)
A B (A%XB) A B (A %XB) A B (A%XB) A B (A %XB)
&/IME 27,500 19.4 533, 500 =/ME - - - =/IMiE 27,500 19.4 533, 500 =/IMiE - - -
&XE 21, 500 19.4 533, 500 &XE - - - =AIE 27,500 19.4 533, 500 =XAE - - -
F{E 217,500 19.4 533, 500 F{E - - - F{E 27,500 19.4 533, 500 FH{E - - -
P R{E 217,500 19.4 033, 500 =P 3 [ - - - R {E 27,500 19.4 933, 500 R fE - - -
=HE(E - 19.4 - =4E(E - - - =HEE - 19.4 - =HEE - - -
AR 1 AR 0 ¥ 1 ¥ 0
3 FEkE
(1) E8mEE
[21K] [35mKim] [35~597%] [60mLLLE]
A% (M) | HEB%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HEB%* | A% () A% (M) | 48 B%=x | A% (M)
A B (A%XB) A B (A %XB) A B (A %XB) A B (A %XB)
&/IME 12, 542 19.4 243, 315 =/ME 11,198 19.4 2117, 241 =/IME 14,128 19.4 274,083 =/IME 11, 820 19.4 229, 308
PN [ 34,000 19.4 659, 600 =RAE 19, 000 19.4 368, 600 mAE 34,000 19.4 659, 600 =AE 18, 900 19.4 366, 660
TiYE 18,614 19.4 361, 106 EHE 14, 653 19.4 284, 260 EH{E 19, 385 19.4 376, 063 FiE 15, 360 19.4 297, 984
FR{E 17, 333 19.4 336, 267 o fE 15, 000 19.4 291, 000 h o fE 18, 210 19.4 353, 274 R R {E 15, 360 19.4 297, 984
=HE(E - 19. 4 - =HE(E - 19.4 - =HEE - 19.4 - =HEE - 19.4 -
AR 15 AR 9 BAR 14 BARH 2
2 BEZ®E
[21K] [35mKim] [35~597%] [60mLALE]
A% (M) | HEhB%* | A% (F) A% () | HEB%*x | A% () A% (M) | HEB%*x | A% () A% (M) | 48 B%=x | A% (M)
A B (AxB) A B (AxB) A B (AxB) A B (AxB)
&=/MiE 21, 500 19.4 533, 500 =/ME - - - =/IME 21,500 19.4 933, 500 =/MiE - - -
PN [ 21,500 19.4 533, 500 > PN [ - - - mAE 27,500 19.4 933, 500 =AE - - -
TiYE 21,500 19.4 533, 500 TiYE - - - FiE 21,500 19.4 533, 500 FiE - - -
FR{E 27,500 19.4 033, 500 =P 3 [ - - - R {E 27,500 19.4 933, 500 R fE - - -
=4E(E - 19.4 - =HE(E - - - =HEE - 19.4 - =HEE - - -
BAY 1 BAY 0 FAH 1 FAH 0




